
Government of India
Ministry of Defence

Ordnance Factory Board
10A, S.K. Bose Road

Kolkata - 700001

CENTRALISED VENDOR REGISTRATION CERTIFICATE

This is to certify that M/s PRASHANT ENGINEERING WORKS, KHASRA NO.1087, SADDIQUE NAGAR(VIKAS NAGAR) STREET

NO.1 GHAZIABAD Uttar Pradesh is registered at Ordnance Factory Board for following Items.

 

Sl.
No.

Factory / Unit Item Nomenclature Initial Date of
Registration

1 Gun and Shell Factory DUMMY PELLET IN F/C TO DRG.NO.M-10395[AS

PER DRG. & SPECIFICATION]

17-08-2015

2 SEMI MACHINE UNION RING TO DRG NO.ISX-492

DC NO.37341-A DT.6/9/2013[62]

15-09-2017

3 DETENT TO DRG. NO. QX-1507 FOR Fz MK-8 &

9[63]

15-09-2017

4 Ordnance Factory Muradnagar LUG HOUSING OF 250KG[AS PER OFM

SPECIFICATION]

12-12-2015

5 Ordnance Factory Dehradun CAP, PROTECTIVE, DUST AND MOISTURE SEAL

AS PER DRG. NO. IRDE-1035/59.[As per required

Specification]

03-09-2016

6 CELL EP DRG. NO. CWC/229/35/1.[As per required

Specification]

03-09-2016

7 CELL GRATICULE DRG. NO.CWC/229/28/1.[As per

required Specification]

03-09-2016

8 COVER PLATEÃ¢â‚¬â€œH DRG. NO.

CWC/229/64/2.[As per required Specification]

03-09-2016

9 GRATICULE RING DRG. NO.CWC/229/67/2.[As per

required Specification]

03-09-2016

10 HOUSING OG AS PER DRG. NO.MCT-3293 (NOTE

:- ITEM SHOULD BE WITHOUT ANODISING &

POWDER COATING)[As per required Specification]

03-09-2016

11 RING RETAINING DRG. NO. MCT-2959/1.[As per

required Specification]

03-09-2016

Page 1/4



12 RING RETAINING EP DRG.NO. CWC/229/33.[As per

required Specification]

03-09-2016

13 SCREW DRG. NO. MCT-2949/1 FOR HR BINO.[As

per required Specification]

03-09-2016

14 SECURING RING DRG. NO. CWC/229/56/1 FOR II

TUBE.[As per required Specification]

03-09-2016

15 SOCKET AS PER DRG. NO. MCT-3189.[As per

required Specification]

03-09-2016

16 ADAPTER BLANK MCT 2878 FOR INDICATER

FUZE 105 37 FD[74]

05-02-2019

17 CELL AS PER DRG NO MCT 3279[74] 05-02-2019

18 RING RETAINING TO DRG NO MCT 2946 2 FOR

HR BINO 8X30 R[74]

05-02-2019

19 SCREW DRG NO MCT 2949 2 FOR HR BINO[74] 05-02-2019

20 SUPPORT DIAL SCALE TO DRG NO MCT 3243

FOR SIGHT DIAL 104A[74]

05-02-2019

21 STUD DRG.NO.CQA(I)-46/2[74] 05-02-2019

22 BEARING SLEEVE DRG NO IRDE 1175 108[74] 05-02-2019

23 NUT PLAIN ROUND AS PER DRG NO MCT

3012[74]

05-02-2019

24 BUSH AS PER DRG NO CWC 229 77 1[74] 05-02-2019

25 BOLT MILD STEEL HEXAGONAL HEAD FULL

THREADED SIZE M5 25 LONG TO IS 1363[17]

05-02-2019

26 BRASS WOOD SCREW SLOTTED CSK HEAD SIZE

NO 2 X 10 MM LONG TO IS 6760[17]

05-02-2019

27 CAP PROTECTIVE DUST AND MOISTURE

SEAL[74]

05-02-2019

28 HOLDER DRG IRDE 1175 45 SHT 2 FOR SIGHT

DIAL 104A[74]

05-02-2019

29 CLAMP FINISH TO DRG NO MCT 2103[74] 05-02-2019

30 NUT PLAIN ROUND IRDE 1175 30[74] 05-02-2019

31 NUT TO DRG NO MCT 2451[74] 05-02-2019

32 NUT CLAMPING AS PER DRG NO MCT 3163[74] 05-02-2019

33 SLEEVE TO DRG NO MCT 3249 FOR

CLINOMETER 2A 46[74]

05-02-2019

Page 2/4



34 SCREW DIAL SCALE M3 X 5 MM DIN 88 FOR

TELESCOPE SIGHT 84 MM RCL GUN[17]

05-02-2019

35 MOUNTING BOLT DRG NO CQA I 792 35 FOR

TELESCOPIC SIGHT MK III[74]

05-02-2019

36 PLUG SCREWED SPECIAL AS PER DRG NO IRDE

180 20[74]

05-02-2019

37 SCREW SPECIAL DRG NO MCT 1137 1[74] 05-02-2019

38 SCREW SPECIAL DRG NO 2880[00] 05-02-2019

39 STEEL WASHER PLAIN M4 CONFIRMING TO IS

2016[17]

05-02-2019

40 SCREW GRUB C BRASS M2X3 LG IS 2388 FOR

BINO 20X70[17]

05-02-2019

41 WASHER FLAT AS PER DRG NO IRDE 1159 9[74] 05-02-2019

42 COLLER TO DRG OS 12327[74] 05-02-2019

43 CELL OPTICAL ELEMENT AS PER DRG NO MCT

3269 1 FOR SIGHT DIAL 104A[74]

05-02-2019

44 CELL DRG NO MCT 1161 3 FOR SIGHT UNIT

CASED 102 B[74]

05-02-2019

45 ROUND HEAD WOOD SCREW NO 4X12 STEEL

PHOSPHATE IS 6739[17]

05-02-2019

46 SCREW GRUB C M BRASS IS 2388[17] 05-02-2019

47 CSK SCREW STEEL M3X5 MM[17] 05-02-2019

48 SCREW BA BRASS RD HEAD NO 8 X 2MM

LONG[17]

05-02-2019

49 SOCKET HEAD CAP SCREW M 4X10 STEEL

CONFIRMING TO IS 2269 P 8 8 MAKE UNBRAKO

TVS LPS[17]

05-02-2019

 

Registration No. : AQYPS9030J

Initial Date of Registration : 17-08-2015

Downloaded at : 19/04/2025 10:24 am

 

Conditions of Registration:

1. This Registration has been carried out based on self-declared documents furnished by Vendor.

Page 3/4



Registration Authority immediately.

2. Changes, if any, in Address or constitution of the Firm, major Machinery/Equipment or Technology should be intimated to the3. The Registration Authority reserves the right to cancel this Registration Certificate at any time.

4. Registration will be valid for 05 years with automatic renewal unless cancelled on account of administrative reasons.

 

 This is a system generated certificate. Hence no separate signature is required.

 

NOTE: It is only a registration of vendor. It does not grant any special supply status to the Vendor. It is for the purpose of
participation in Tender process only.

 

 

Powered by TCPDF (www.tcpdf.org)

Page 4/4

http://www.tcpdf.org

